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INSTRUCTION.

Answer all questions in the spaces provided.

l.

[39]

a) Mechanics is one of the branches of physics state what it deals with.

b) Name the branch of physics that deals with:
i) Propagation of energy through space.

\INave £

i) Behaviour of light as it traverses various media.

G eormetical optics

¢) One basic laboratory rule is proper dressing. Give an example of proper dressing.

Necmn'ﬁ Slovu! while LC"“’“‘“:ﬁ Q\/\awnc'c\la:.

Name two instruments for measuring volume of liquids.
pipetie
\Bu vr€+

Fig 1 shows a measuring cylinder.
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a) Record the reading of volume, V, of liquid in the measuring cylinder.

3
'86w)

b) Determine the reading on the measurin

(1mk)

(2mks)

(1mk)

(2mks)

(Imk)

0.6¢in’ are added. & cylinder after 5 drops of water each of volume

N2 @@ x & 5
= 2eim® New yeoad,

(2mks)

2

9 [g% 3 = LM

Teacher.co.ke



Download this and other FREE materials from https://teacher.co.ke/notes

Teacher.co.ke

¢) Mark the new reading of volume, V2 on the diagram. (1mk)

4. The mass of a density bottle is 20g when empty and 45g when full of water. When full of

mercury its mass is 360g. .
a) i. Calculate the mass of water that fills the density bottle. (Jmks)

Mats 45q - 20 = 253

ii. Calculate the mass of mercury that fills the density bottle. (Imk)

™ags 3G 0g - og = 314-03

b) i. Given that the density of water s 1g/cm’, calculate the volume of water that fills the density

bottle. 3 (gmks)
mag § = 254
Vol N - = 2L cm
Olume = - - 3
G,Qngl*j 3 'CM
ii. Give the volume of ercury that fills the density bottle. (k)

. a
~ {" = -3 H’ o 3 -~ e -2 6 Cwvn
iii. Calculate the density ofdmercury. 2 (2mks)

. me €S 2

dcmﬂh,l E F ?’Lfoj < _Aad. & 3\0«/\
\jo\qu 2 3

S. a)Define force and state its SI unit. 5cmn (2mks)

Tovce s 2fluv & Push a pull ox g LTfL ©n & object -
SO :\lebot-o,\

b) Differentiate between cohesive and adhesive forces. (2mks)
Cohesive fevces ave jm cos of atrachon between moalecules of the

Lame Kind ®uile g \nqrwo_fofccur are Aorces o+ a thvactiew
Leotweenw molecules of i Tffeveut Kuiwd.

6. List two factors affecting surface tension. 3 (2mks)

\Qmpc-{q‘)ure -

- ‘mpwf" e <

7. A body weighs 65N. Calculate its mass (g= 10N/Kg) (2mks)
Mcaecs = V\Jw'tl;tjlnt _ AN c 5 1
Jravitabnay lomike I
Qr(Ce 3

8. Define pressure giving its SI unit.
preacoe i Aefiad ac fore achioh nocmally
YQ{?Q“AE.CW[MJJ g “W(Jc,z ave a .

€5 unt Reten pov auove waekea -

N
e —————

(2mks)




Download this and other FREE materials from https://teacher.co.ke/notes

9. Fig 2. Below shows a liquid manometer being used to measure gas pressure contained in a small
bag.

N
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ZR77 ——
Gas | 1% =
71 1Z] ==
—/ X =Y
N e = = S i
JB -— ~Z=-
aQaq _ e -
i.  Name the pressure acting on surface of water at: (2mks)
X = F'{Q,c.c wee o fhe s .
Y — 3
A’\"‘\O&P hLexie Presgcuve -
ii.  State why pressure at X is equal to pressure at Z. (1mk)

?‘(Q&‘Juvﬁ °\+ ’hn.Q— ECawme \QVQ_\ 1.:& ’qu( Same -

iii.  Ifh=10cm, atmospheric = 103000N/m’ and density of water is 1000kg/m’, determine the
pressure of the gas in the small bag. (3mks)

Pﬁ = \f\wﬁdﬁwf P.
:(O-IX\OOOX \0) + loc2 000 = IOWOOOIJlML
10, State two properties of the hydvatit2 Brake fiuid. (2mks)
= M ompreowdilbl ¢
—Lew mekidg poing -
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~ Now - Co¥volive

(=

Teacher.co.ke



€r.co.ke/notes

Download this and other FREE materials from https://tea

Teacher.co.ke

11, Figure below shows a lift pump.
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a) Name the valve that opens and the one that closes when the piston is pulled upwards.
(2mks)
Opens — \Io\\va. \/

Closes — VGAVQ— ><

b) Explain why valve Y closes when the piston is pushed downwards. (2mks)
\buq. Yo \:\’J WQ\'ﬁ\,ﬁ- q\.A Twe P\DQC Suva U’a‘r wq\—g»(
%0‘“ Q '\ L

12. a) State the kinetic theory of matter. I . (2mks) oQ
mMadfex ¢ madae up of “ny Pavsicles which ave (v Conctaat Yandon,

™M (O w
The figure below shows a'set up used to study motion of smoke particles in air.

State the purpose of:
:- N F~NLC
oy T C
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i N  Lens
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L vie ' bulb
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i. ApparatusA — M{CYoscope - Maﬁ"“—(\d‘“‘b Pcc(‘ﬁztfrﬁis) e
—Swoke cell.

ii. Lens — Convewr@\.,:s Hoo Tay < L@EWE
~ L, ’ ’
b) Give two reasons W‘l\y Sf?fék'é‘ m\@sﬁremgﬁed‘l% 'tns? éipeerix%en I (2mks)
Light

— E=slly Vietble . 4
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¢) State and explain the nature of observed motion of the smoke particles. (2mks)

Conttant Yarudom oo -
—_— C‘o“\&ton ler\—\ooOv‘ Crmole PQ{HClQ&‘ CL-\a‘ a\~ ’Pm‘gg.

13. Figure below shows bimetallic strip at room temperature and the same strip at 100°C.

netal B | metalB

// [\ %

[T IT777T17 LT <>
[T A i

1

metal A

i.  Comparc linear expansivity values of the two metals. (2mks)

Metal A Wag Qa lr\@l,, L(ngav ‘QXPC.M-E‘\V}-U h('Qr\-Q
Qs compaved 4o ™metal B

ii.  Statc how the two metals are joined together. (1mk) !

EDV) \(\\/Q’*_S

iii.  Statc onc application of the bimetallic strip. 5 (1mk)
'1\~QYMo(%a €\QC'\~ncq\ Q liawceo ¢ .
14. Give a rcason for cach ofthe_}ollowing. PP
1. In building contraction steel metal is used to reinforce concrete. (2mks)

Steel a-d Concvete hac Jhe Same Lineax prqn_éw',,yb vote -

ii.  Ordinary glass tumbler breaks when hot water is poured in it.

Hel Water heate the Inney walle of the glase mcmug Tt ex\x‘m
kel a The outer wogll doec ot | WWW&» ASAARYA
Thi cvaq‘\m‘ G"\Y'ow ffofCew o QKPQNHO‘W ot Lroak w1 -

15. State one advantage of alcohol over mercury when used as a thermometer liquid. (1mk)

Alcdhe] Hq, S ""QH‘“O point (freemivy porat) msed by mape

. rf cGnw mMmeacuve Low Q.f\. .
+uevnqg aonven 298 QMPQY Ve (2mks)

gk -F3 = 25 °c

17. State the three modes of heat transfer. (3mks)
- COV‘.'\AC"*'(O' “ o,
-Radiation. 5

~Conve ction *
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18. State three factors that affect rate of heat transfer by conduction of a given metal conductor.

- Lengh. of tue naotevial | (3mks)
_ Mickve € ¢ o,f— 1Tw.e Mc\r\‘erra\ g
— Type of twe redevigl.

— {ew PQYq&uv c o\'fffev ewce -
19. Explain why metals conduct heat faster than non-metals. (2mks)

Metale use botl, atom Vibrahin awud elechowne
‘o Couduct -
20. Give a reason why two thin blankets are warmer than one thick blanket. (1mk)
Thie lagev volch ”&\'ﬂ?s Q N\~
M &« Poox CowO‘MC'th Off \«er{‘.‘-

21. Give two differences between mass and weight. (4mks)

hrace 1€ fue q\.\av\-h'ﬁ of rMatey W‘l\é\«—\: \'s e pPuwl of SYqVT;‘ﬁ
' & object 0w Aw Oobject -

I+ 15 "eaSuved u“h‘@ a beam| ™Meacuved uf\v\‘ﬁ a &pﬁns
bealance balance -
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